EC-No.

22629

o O
FRC3A |BA
poiay
5 70A MVDG  |JVDG

Cable assembled

[]

[N

Max. targue 9Nm

X2/X3/X4&IX5/X6

O
N
QN
7 A
©
X1
T j’ /
\ Max. forgue 17Nm
g 79 (=9
350
Bill of material
Paos. | Qf. | Drawing Nao. Material description Material No. | Comment Max. torque
10 1 ]189-00-004-1000 PCB Board assembled 89-00-004-1000 01161723
20 |12 Hex screw DIN 933-M5x10-8.8-AZ2B 01070217
30 (2 |29-M-1 Relay 29-111-11 09000088 | K1K2 M3,5-1,2Nm/ M8-13Nm
40 |2 |29-211-1 Relay 29-211-11 09000094 | K3K4 M4-2,2Nm/ M8-13Nm
50 |1 |89-00-004-1001 Mounting Plate 89-00-004-1001 01162241
60 |6 |89-00-004-1003 Distance M5 12,5 89-00-004-1003 01162239
70 |1 |89-00-004-1002 Cable assembled 89-00-004-1002 01162245
80 |2 Hex-head screw ISO 4017-M5x10-CuZn-J2 | 01148889
90 |1 |29-01-1 Relay 29-011-11 09000084 | K7 M3,5-1,2Nm/ M5-3,5Nm
100 |1 Hex nut DIN 934-M5-8-A2K 01006560
10 |16 Washer DIN 125-A5,3-CuZn-E2 01008302
120 |1 | 300-005LF ATO Blade fuses 20A yellow 300-005LF 01162037 F7
130 |2 |300-006LF ATO Blade fuses 30A green 300-006LF 01158272 F5.F6
140 |2 |300-012LF ATO Blade fuses 40A orange 300-012LF | 01162044 F8.F9
150 |1 |301-003LF MIDI Fuse 50A red 301-003LF 01162048 F10 max. 2,2Nm
160 |4 |302-002LF MEGA-Fuse 125A green 302-002LF 01162117 F1F2F3,F4 | max. SNm
170 |2 Cube Relay FRC3A 70AB12VDC 01161724 K5.Ké
180 |4 |109-002 Plastic protection Mé-M8 01157366
190 |16 Washer DIN 125-A5,3-CuZn-E2 01008302
200 |10 Hex-head screw ISO 4017-M5x16-8.8-A2B | 01148579

J3 for Relay Coils Confrolling

Re-Uesign Power Board

FPage 1

of 7

mm
-

1:7

Scale

Date Name
Drawn [06.03.2018 |Hamar
Check 17122018 |Kaise

General Tolerances

OIN 150 2768 cL

Yl ihm,

Drawing No.:

89-00-004

NSN.:




EC-No.

22629

X7
Q. [M12
M F I ) _ ‘
max. '25A max. 125A F3 F4 F5
max. 125A max. 125A max. 3J0A
X6 - ~ - L
(']
G = 3
L) -2
M8
@ ™ @ =
3 ] " 3
wll Ba T- w(! g “ EBa y AEa
56 | K1 R | 86 | K3 | k4
85 29.1Mm 85 29.1m 85 29.21 5 | 29.211
_*_ 8 e * 88 :0?9__:-,
o) [ -]
o Q o <
3 - — = = u a2} 2] ]
- F6 F7 F8 F9 Fia K = e
ol max. 30A max. 38A max. 48A max. 480A max. S@A wl o -
o Ly E [ g £ E N- - .
o o a8 i <
_J | | | N | 1| :J{LE&-: " =+
3 . K7 a4 <
5 29.01
8 K51 s 5 K6.1 Jes -
B& B& il
85 85 a
8 E 3
™ = - -
e = = =
g g g g
0 <+ o ! O Q o o
o of o S 2|0 |s SOl 2O |s |0 |g
'z = = =
® © © ©
= = = =
J4.6
16 -
A
F o—
&=
Re-Design Power Boadrd Page 2 of 2
Date Name o ?cg%e Drawing No.:
- .
Drawn (0603201 |Hamar ' M//i/ﬂﬂﬂ@ 89-00-004
General Tolerances
Check 17122018  [Kaise DIN 1SO 2768 cL NSN.:




